CM Box
Problem 3 (30 points)

A massless beam is supported by a ball and socket type joint at A and chains attached at Point C. The unit vectors
specifying direction from C to the chains’ anchor points are given in the figure. A verdcal load of 1000 N is applied at

point B. You are assigned to find the reactions at A and the tensions in the two chains.
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Detail of Joint A

(@) Draw a free body diagram that is approptiate for analyzing this system.
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(b) Write the three component equations resulting from the application of force equilibrium to your free body

diagram. Do not solve the equations!
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(c) Write the three component equations resulting
diagram. You are taking moments about point __ & . Do not solve
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from the application of moment equilibrium to your free body

the equaitons!
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